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LIBRARY & INFORMATION SCIENCE
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Who expressed knowledge in a 7.  Real Time Access refers to
Zlinilli gz:f}zega}?tlcal equation k(s) + (A) Access in advance
(A) Fritz Machlup (B) Access after some time
(B) B.C. Brooks (C) Access when searched for
(©) N.J. Belkin (D) None of the above
(D) C.E. Shannon
Which is not a near synonym term to 8.  Theory X and Theory Y relate to
information ? (A) Planning
(A)  Ideas (B) Data (B) Motivation
(C) Catalogue (D) Facts )
(C) Innovation
CCF stands for (D) None of the above
(A) Common Communication
Format o 9. Dewey Decimal classification is now
(B) Centre for Communication looked after b
Format ooked after by
(C) Committee for Communication (A) Lake Placid Club
Format ‘ (B) Library of Congress
(D) Common Curriculum Format (©) OCLC
Resources sharing among libraries (D) Classification Research Group
was prompted by the factors
(A)  Price escglatlon ) 10. INSDOC has been merged with
Eg; ;nfo; r(nzglonde)((gl)osmn NISCOM and is now known as
ot an
(D) None of the above (A) DELNET
(B) NISCAIR
The Library Association (UK) is (C) DESIDOC
now the component of
D) NASSD
(A) ASLIB (D) SSDOC
(B) CILIP
(C) ALA 11. World Wide Web was first designed
(D) None of the above by
(A) Charles Babbage
Which of the following professional (B) F.W. Lancaster
Associations does not exist now ? U
(A) TFLA (B) FID (C) Ted Nelson
(C) ALA (D) TASLIC (D) Tim Berner’s Lee
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1.

TEIHTAT T G faam
Tea — 11

M : 3T UTIT H U= (50) Tg-Toehedi UeT & | Uedish W o a1 (2) 3k & | qef U9l o STR S |

I ot TR T FHERT k(s) + Al
=K (s + As) T feorem oo fpan & 2

(A) TR g% (B) WO I
(C) TAS. SR (D) WL =T

YT T TR Ieh! T I T 6§ 2
(A) foEr (B) 3
(© = (D) @A

4.0, 1 31 R

(A) HE FRHIT HiHS
(B) U BR FHIFRTH HiHS
(C) HES ®BR FRIHHIH HHS
(D) T HRIHH HHS

TTeT] o Heg GETE sie o [ foh
THReT §RT URT &% 2

(A) wHEaH TeE

(B) e fereie

(©) (A) R (B)THI

(D) 3w H 9 IS Tl

AR TEAYE (I h.) 3 TohweR
TS (TEeF) & ?

(A) UUHTHA 37 o (THic)

(B) ¥ 3T U 377E O (W)

(C) TuAd

(D) ST H g Tl

TTiToha =meaes (U9TeR) gei § 9
I T 37 HISS el & 2

(A) TEUE UA U (3hel)

(B) TF I (fFe)

(C) TUAT (3

(D) ¥ T TH A 33 |

7.

AT gforer (REe 2y ueq)

fereen Toteh shear 2 2

(A) AT ytereo

(B) T qHA % 1% URIET
(C) 19 &gl ST el URyeuT
(D) ST H @ HFE Tl

offar X 3R el Y fohad g & 2
(A) TaeE

(B)  3TTIROM

(C) Taad

(D) ST H | FFE TEl

T TTHCTS FTIEhROT hi SEHTE 376 hi
FIATE ?
(A) TP =TS FAST

(B) SR 3T M

. SO (3T TF U T 31 ) e

S M (T7 33 TH € 311 TH) F

{17 o fear T € 3R T 59 A | S

AT

(A) I (STTATIEE)

(B) FERR (W7 o wq © U oM
3R)

(C) <o (313 TH a1 < 31 §)

(D) e (TF T UH U I 3 )

. oS o128 o ol HoveH e fesre

frar ar ?

(A) TG delsT

(B) UF.T=Y, TR
(C) TS =ore

(D) TeH s
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12.

13.

14.

15.

16.

17.

18.

ISBN consists of
(A) 6 digits (B)
(C) 13 digits (D)

8 digits
15 digits

Bibliographical coupling is related to
(A) Bibliometric studies

(B) Bibliography compilation

(C) Modes of subject formation
(D) Vocabulary control

Dublin core meta data consists of
(A) 15 elements
(B) 10 elements
(C) 25 elements
(D) 08 elements

A type of indexing where terms are
coordinated prior to searching

(A) Post coordinate indexing

(B) Pre coordinate indexing

(C)  Uniterm indexing

(D) None of the above

Use of integrated circuits was made
in

(A) First Generation Computers
(B) Second Generation Computers
(C) Third Generation Computer
(D) Fourth Generation Computers

The Network Topology in which
nodes are connected to a central hub
is known as

(A) Ring Topology

(B) Bus Topology

(C) Star Topology

(D) Mesh Topology

Which of the following is a term
used for working assumption of a
solution to a problem ?

(A) Research (B) Hypothesis
(C) Bibliography (D) Thesis

19.

20.

21.

22,

Computer Memory is measured in
(A) Bytes

(B) Kilobytes

(C) Megabytes

(D) All of the above

DELNET stands for
(A) Developing Library Network

(B) Department of Electronics
Library Network

(C) Distance Education Library
Network

(D) Delhi Library Network

Assertion (A) : Demand is the
only governing factor in Book

selection.

Reason (R) : Patrons’ requirements
govern building library
collections.

Codes :

(A) (A)istrue and (R) is false.
(B) (A) is false and (R) is true.
(C) (A) and (R) both are true.

(D) (A) and (R) both are false.

Assertion (A) An indexing
language is much more than a
list of index terms that are
acceptable to users.

Reason (R) : An indexing language
helps  users  discriminate
between terms and reduces
ambiguity in the language.

Codes :

(A) Both (A) and (R) are true and
(R) is not the correct
explanation.

(B) Both (A) and (R) are true and
(R) is the correct explanation.

(C©) (A) is false, but (R) is true.
(D) (A) is true, but (R) is false.
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12. 378 UQ o U H fohe 37k 3T € 2 19. X Wi i AT ST &
(A) 6 3% (B) 8 3® (A) EHH
C) wMeTZed |
13.  TReh SIS G & ED)) 3 ;:n:ﬂ,
(A) fafsreidieles edo g
B) TFgEl GUEUT AT Weheld
(B) TeurcHe 3% Toigei-eRd wTgsRl
14, e HR Fer 321 # ot ave e T
BT ? (C) fe&d Tspher oesi 2o
(A) 15 SFerFa (B) 10 eI (D) Taoetl eEsRl Heeh
(C) 25 aad (D) 08 3T
. SN — 21. WW.(A) : QI =999 § 9w A
T g UG} I G-I fohaT ST &, e 2 A W%l ‘
(A) ITR-THF SFFHADTEH T (R) NN i
B) - W%ﬁﬂﬁwﬁmaﬁ
EC) Ef “'1? FUTE TR et © |
D) SWFEUH ' T
®) b (A) (A) FF TR (R) e g |
16. Ififes Wihew #1 Syam fhad fwar (B) (A) =T W< (R) §I¢ |
T ? s . (C) (A) 3R (R)SHITAE |
Eg %ﬁ;;m@é 8 (D) (A) 3R (R) SHT fHem ¥ |
(®) qaﬁwuﬁéésmuqaiﬁ
‘ 22, fmmad (A) @ 1T,
(D) el it 5 e Sed )
17, For S i () 4 gﬁﬁqﬁ@ﬁwa@rw
é?%?%ﬁi’%??@ o TH(R)  : FFIHHOTR AT, UG
. ST YAl & AR W § TS
(B) WZV‘WT’]‘ HIFTRAE |
(C) %R Zdiersit —
@) = (A) (A) 3R (R) & &= € 3R (R)
18. QT % & I HEHR WA FH T WIARE |
friftrd & & fFg 98 W1 ST R (B) (A) 3R (R) SHi & € 3R (R)
ST e ? AL |
(A) 3mg (B) WTerehodHT (C) (A) s, g (R) TTE |
(C) TAgH (D) ife (D) (A) TF & W (R) feam® |
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23.

24.

25.

26.

Assertion (A) : Libraries are facing
a threat and are bound to
disappear soon.

Reason (R) Internet and WWW
provide access to Oceans of
information Worldwide.

Codes :

(A) (A) is true, but (R) is false.

(B) (A) is false, but (R) is true.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

Assertion (A) : Deacidification is a
measure to preserve documents
in any medium.

Reason (R) : Digital preservation
needs a different preservation
care.

Codes :

(A) (A) is false, but (R) is true.

(B) (A) is true, but (R) is false.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

Assertion (A) : SDI is a user
oriented current information
service.

Reason (R) : It is an alerting service
directed towards groups.

Codes :

(A) Both (A) and (R) are true.

(B) (A) is true, but (R) is false.

(C) (A)is false, but (R) is true.

(D) Both (A) and (R) are false.

Assertion (A) : Indexing periodical

retrieves information, which
includes brief summary of the
article.

Reason (R) : It provides list of
articles alongwith the title,
authors and other bibliographic
details.

Codes :

(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C) (A)is true, but (R) is false.
(D) (A) is false, but (R) are true.

27.

28.

29.

30.
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Assertion (A) : Median is simply
the middle value when the data
have been arranged in
ascending or descending order.

Reason (R) : Median refers to the
middle value in a distribution.

Codes :

(A) Both (A) and (R) are true.

(B) (A) is true, but (R) is false.

(C) (A) is false, but (R) is true.

(D) Both (A) and (R) are false.

Assertion (A) Data base is a
collection of interrelated data
stored together.

Reason (R) It is an organised,
integrated collection of data.

Codes :

(A) Both (A) and (R) are false.

(B) (A) is false, but (R) is true.

(C) Both (A) and (R) are true.

(D) (A) is true, but (R) is false.

Assertion (A) : Dewey Decimal is

an enumerative scheme of
classification.
Reason (R) The scheme has

developed several devices and
iS no more an enumerative
scheme of classification.
Codes :
(A) (A)is true, but (R) is false.
(B) (A) is not true, but (R) is true.
(C) Both (A) and (R) are true.
(D) Both (A) and (R) are false.

Assertion (A) : A Library legislation
provides proper governance
and management.

Reason (R) : It ensures free public
library service to all irrespective
of caste, creed and sex.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.



23.

24.

25.

26.

ATHHYT (A) : TP T
T 9 W § R STeRT & Bﬁ
Ty e wd € |

qF (R) : T2 3R T, T, T4,
(www) fovesamdt faener g
URIET T A © |

E A

(A) (A) FFE, R (R) ITAE |

(B) (A) 3@ &, W] (R) TAE |

(C) (A) 3R (R)IHTAT |

(D) (A) 3T (R) 3HI A & |

ATTHAT (A) @ AT Toial i
fordt ot Treem | e W@ H
g |

T& (R) : TefSfeet  UisReRHE &
18 T9=7 UehR <Rl TTReTor STt
I TET BT |

?&':

(A) (A) [T g, g (R) T9¢ |

(B) (A) §TE, W= (R) e |

(C) (A) I (R) TN ETE |

(D) (A) 3R (R) &1 fqean € |

Afipe (A) : T8 & eme  (SDI)

SE SR ga Han

g
& (R) : I8 el & AR ffee
HehdT AT e |

?&':

(A) (A) 3R (R) A TAE |
(B) (A) §=E, W= (R) e |
(C) (A) [ g, == (R) §AE |
(D) (A) 3R (R) 31 e & |

ARIBAT (A) : SFTHAINROT  TEFhT
YA Y G SR @, forad
G ol WA R I @ e |

& (R) : Ig oiEl & Mo, ol
AR T FUAT T SR % 9Ty
T 3ThT Gt VT AT € |

E

(A) (A) 3R (R) I FAE |

(B) (A) 3R (R) 3HI 3 & |

(C) (A)FTE, W (R) ITAE |

(D) (A) A&, W] (R) T |

27. Afwa (A)

28.

29.

30.
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(A) (A) 3R (R) I TAT |

(B) (A) ¥ T, W (R) 3IqAE |

(C) (A) FTAE, <] (R) §AE |

(D) (A) 3T (R) 3HI A & |

ATMHAT (A) : Tohs T 3T grrad
Wwwmaﬂwﬁm
T

& (R) I o
W&ﬂﬁﬂﬂﬁﬁ%ﬁwﬁl

%

(A) (A) 3R (R) 3T ST € |

(B) (A) 38 €, R (R) A€ |

(C) (A) 3R (R)IANFTAE |

(D) (A) TEE, R (R) 3TAET |

ARTHAT (A) : SIS IVH, STHROT
! ToHIH AT |

& (R) : 3T IIoFT J g ok
forepfae foral & 2R =7 o1 afieReoT
F TOAHS hiH faeher @
teall

FHE

(A) (A) FFE, R (R) ITAE |

(B) (A) 3§, W] (R) §AE |

(C) (A) 3R (R) I TAT |

(D) (A) 3T (R) 3HI A & |

ATHHAT (A) : T FEA T
I TS Ve ht SHorel il & |

& (R) : I8 i, A R form
TR A < o1 g o1 30
GENR Teerd daT gHread
HEATE |

®e L.

(A) (A) 3R (R) I TAE |

(B) (A) 3 (R) 3HI 3 & |

(C) (A)FTE AR (R) WA |

(D) (A) A& 3R (R) THE |




31.

32.

33.

Arrange the following in the
chronological sequence of their
development.

(i) ISBD (i) CCF
(ii1)) FRBR (iv) MARC
Codes :

A) (D), (i), (iv), (i)
B) (), (), (i), (iii)
(©) (i), (iD), (iv), ()
D) (@), (v), (i), (iii)

Arrange the following secondary
publications  according to the
beginning of their publication in
chronological order.

(i) Biological Abstracts
(i)  Chemical Abstracts
(i) LISA

(iv) Index Medicus
Codes :

(A) (1), (i), (iid), (iv)
B) (), (i), (i), (iv)
(© (@), (1), (i), (iv)
(D) (i), (@), (v), (i)

Arrange the following  States
chronologically according to year of
enactment of Library Legislation.

(i) Tamil Nadu (i) U.P.
(i11)) Gujarat (iv) Mizoram
Codes :

(A) (), (i), (), (i)

B) (i), (iv), (iiD), (1)

(© (), (v), (i), (i1)

D) (@), (), (1v), (iii)
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34.

35.

36.

Arrange the following
chronologically according to their
use in computers :

(i)  Vacuum tube

(i) Microchip

(i11)) Integrated circuits
(iv) Transistors
Codes :

(A) (1), (i), (i), (iv)
B) (), (i), (iid), (iv)
© (@), (v), (i), (i1)
(D) (i), (v), (iiD), (1)

Arrange the following professional
Associations according to the year of
their establishment :

i ILA (ii)) TASLIC
(iii)) ALA (iv) ASLIB
Codes :

A) (), (1), (i), (iv)
(B) (i), (iv), (1), (i)
(©) (), (iib), (i), (i)
D) (), (i), (i), (iv)

Arrange the following according to
chronological order :

(1)  Universal Copyright convention
(i) Berne Convention

(i11)) Indian Copyright Act

(iv) WIPO Copyright Act

Codes :

(A) (i), (iv), (iiD), (1)

(B) (i), (i1), (iv), (1)

© (), (i), (i), (iv)

(D) (i), (1), (iid), (iv)



31.

32.

33.

frAifeRd sl 397k Toehm o SRICTshTa
STToRH T AT hiferd :

(i) ISBD (3TME.UH.S1EN.)
(i) CCF (9. 91.u%.)

(iii) FRBR (U%.3TR.3.31R.)
(iv) MARC (UA.U.3R.41.)
&

(A) (), (i), (iv), (iii)

B)  (iv), (i), (i), (iii)

(©) (i), (i), (iv), (D)

D) (), (iv), (i), (iii)

TRt TIOT TERRTAT i 3o TR o
YA AR HATPHHS STRA |
AR iU :

() SIS TS
(i) hiHheT TSH
(iif) AT (T SMETH)
(iv) 3vsaa Hfewd
FT :

(A) (D), (i), (iii), (iv)
B) (@), (iii), (ii), (iv)
(© (i), (@), (iii), (iv)
(D) (i), (i), (iv), (ii)

TeAiTeRd T4t ol TreTerd SATaFEd T
ﬁﬁ%a&%wmwﬁ

(i) drEerTg (i) L.
(1) TERIA i
&

(A) (i), (i), (@), (i)
B) (i), (iv), (i), (1)
(©) (), (v, (iid), (i)
D) (), (), (iv), (i)

—

34.

35.

36.

freAifeR ol PR O IH ITAN F
3R GRS 3TFY § aredd
HITTT

() oA (i) Wi
(iii) THIFT Wik (iv) ey
e

(A) (), (i), (i), (iv)

B) (), (), (i), (iv)

©) (@, (v), (1), (i1)

(D) (), (1v), (1), (1)

TTeAiTohe SMETTaeh/U9IeR Gl i 3+eh!
TTOT o Y SR SR it :
(i) ILA (=TT

(i) IASLIC (37.U.U9.U. 3TE.41.)
(iii) ALA (T.UA.G.)

(iv) ASLIB (U.UH.UA.3TE.5.)
HE

(A) (), (), (i), (iv)

(B) (i), (iv), (1), (iD)

(©)  (v), (i), (i), (1)

(D) (O, (i), (i), (iv)

fiiehd o TS STRA W

AT I

() FERIIT HURTES AT

(i) = ANTEH

(il) RAT HORTES ATaFaH

(iv) O (S=g.3MEU.3T.) SRR
arfafad

FT :

(A)  (ib), (iv), (iid), (i)

(B) (i), (i), (iv), (i)

©) (), (iid), (ii), (iv)

(D)  (ib), (i), (iii), (iv)
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37.

38.

39.

Arrange the structure of the
Research report in correct order :

(i) Table of contents

(1) Appendices

(iii)) Text

(iv) Title page

Codes :

(A) (i), (@), (v), (i)

B) (), (i), (iid), (iv)

(© (), (i), (iv), (1)

(D) (@), (1), (iid), (i)

Arrange the following schemes of

classification according to their year
of publication :

(i CC (i) DDC
(iii) LC (iv) UDC
Codes :

A) (), (@), (i), (iv)
B) (i), (iib), (iv), ()
(©) (), (i), (iv), (iii)
(D) (), (iib), (i), (i)

Match the following :
List -1 List - I1
(a) The Rightto (i) 2000
Information
Act of India
(b) Universal (i) 2005
Declaration
of Human
Rights
(c) Information (iii)) 1948
Technology
Act. (India)
(d) Digital (iv) 1998
Millennium
Act

Codes :

@ (b (© (@
A @ Gy @) @Gv)
B) ay @) @) Gv)
© () (@) @Gv) @
(D) Gv) @G @ @)

40. Match the following :

List - I List - II

(a) Father of (i) Henry
Scientific Fayol
Management

(b) Father of (i1) Elton
Administration Mayo

(c) Father of (i) F.
Human Hertzberg
Relations
School

(d) Father of (iv) F.W.
Corporate Taylor
Strategy

Codes :

(@ (b (© (@
A aGv) @@ @ (i)
B) aGv) @ G (i)
© G Gv) () (@)
D) Gy @) 3Gv) @)

41. Match the following :

List -1 List - 11
(a) C.A. Cutter (i) Bibliographic
classification

(b) H.E. Bliss  (ii) Expansive

classification

(c) J.D. Brown (iii) Universal

classification
(d) Paul Otlet (iv) Subject
& Henry classification
LaFontaine
Codes :
@ b © @
(A Gy @) (@av) (D)

B) G @) 3Gv) @)
© @O >y >Gv) (i)
D) G Gv) () @)

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




37. Y UiqasA i WEAT el SR |

38.

39.

AR Hiod

(i) foo= gt (i) URRTE
(i) gA-uS (iv) S I8
e

(A) (i), (1), (iv), (i)
B) (1), (i), (iii), (iv)
(©) (), (iib), (iv), (@)
D) (), (@), (iid), (i)

TRIOT ot (iR Ugiqal &l 39k

TR o Y o TR AR il
(i) CC (dr.gr.)

(i) DDC (Sr.r4)

(i) LC (Ter.4t.)

(iv) UDC (Z.gr.4t.)

He:

(A) (), (), (iii), (iv)

(B) (), (iii), (iv), (1)

©) @, (i), (iv), (i)

(D) (iv), (i), (iD), (1)

TeTeTiE st gHfeTd ity ;
et - I e - 11
(a) IRAFT AT (i) 2000
PR rtufTad
(b) A STER (i) 2005
TR ST
(c) THUIE AT (iii) 1948
U= (3f~ea)
(d) Tefstent faifm (iv) 1998
e
e :
@ @®» © @
A) (@) @G) i) (iv)
B) G Gi) G (iv)
© Gi) @G G @)
D) @Gv) i) G @)
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40. TT=ifeRd o1 faeT &Y

41.

et - I el - 11
(a) IR Y (1) & Hae

T SR
(b) WG TS (i) Teed Al
(c) AT F=FY (i) U, gSe

TR oA

S
(d) FONE TSN (iv) TF. TG,

T SHF W
% :

@ (b © @
(A) (Gv) @) () (i)
B) Gv) ® Gy (i)
(© @i @av) @G @)
(D) @Gy @) Gv) (1)
TTAiTeRd =T e Y

et - I e - 11
(a) WU HX (i) TIRE

STERYOT
(b) Ta.3. &1 (i) TR

TR
(c) S2L. s (iii) QrEHitae

STERYOT
(d) UTeT e TS (iv) T aieRor

T o Bied
% :

@ @® © @
(A) @Gy (D  (@[v) (i)
B) @Gy @) Gv) @)
© @ @) @Gv) (31D
(D) (i) @Gv) (@) (1)



42.  Match the following : 44. Match the following :

List -1 List - I1 List - 1 List — I
(a) International (1) 1969
Conference on (a) CLRI (i) Hyderabad
Cataloguing
Principles (b) SENDOC  (ii) New Delhi
(b) International (i) 1961 (c) NASSDOC (iii) Mumbai
Meeting of
Cataloguing (d) BARC (iv) Chennai
Experts Cod
(c) International odes :
Symposium of @ b @ @
Bibliographic
Exchange (A) () (@) (@Qv) (i)
format (ii1)) 1990 B ' . ' .
(d) First CCF Users (iv) 1978 ® ) ) O @
meeting © Gv) @® @) (i)
Codes :

(D) @i (@) (@av) 1)
@ ® @© @

A @ @) (@Gv) (1)

B) Gi) () (v @ 45. Match the following :

©  Gv Gi) @ G) List - I List - II

D) (@) @@ @Gv) @G

(a) Fumigation (i) Acquisition

43. Match the following : (b) Building (i) Preservation
List -1 List - T hblrlary‘
(2) NASSDOC (i) Defence coflection
Science (¢) Kardex (1ii) Reference
(b) DEVSIS (i1) Social service
Sciences
(c) INIS (iiii) Development (d) Information (iv) Registration
Science Desk of Periodicals
(d) DESIDOC  (iv) Nuclear Codes :
Science
Codes : @ ® (© (@
(@ b (© @ (A) (i) i) G (@Gv)
(A)  (@Gv) (@) () (D) B) Gi) Gi) Gv) @)
B) (i) (i) Gv) O T
(C) i) () @G  3{v) (©) (i) (i) ) (iv)
(D) @) @ @ (Gv) D) ) @) @Gv) (i)

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




42. TA=ifeRd o1 faeT= St :

et - I

el - 11

(a) TEETFAEHE (i) 1969

wraTeT

(b) TTEIAAATET (i) 1961

(@ (b
(i) @
(i) (i)
(iv)  (iii)
(i) ()

(A)
(B)
©)
(D)

(i) 1990
(iv) 1978

© (@
(iv) (i)
iv) (@)
@ (i)
(iv) (i)

43. TT=ifeRd o1 fae &

et - I
(a) TTEH

(TH.0.79.T4.

)

OREEIE
(2.
ME.TH.)

(c) i
(3TE.TA. 3.
Ta.)

(d) ST
(S1.3.049.37E.
)

%e:

(a)

(A) (iv)

B) (ii)

O ®

(D) (iii)

(b)
(i)
(111)
(i)
(i)

el - 11
(i) et o

(i) QrHITSTeR farsT

(iii) Torer fomm

(iv) et fom

(¢ ()
) (i)
iv) (@
(1)  (1v)
»  Gv)

44.

45.

TeAiTeRe AT foeT T o :
et - I

(a) HI.UA.3TR. 3T,

(b) TETH

e - 11
(i) TR
(i) ¢ feoett

(TH.Z.UA. S

(c) THSF

(iif) T

(T.0. 09U 2. 3T

)
(d) =T (T4, 2TR. )
&

(@ (b
i @
(iv)
i) @)
(i) (@)

(A)
(B)
©)
(D)

T=ifeRe 1 eI oY
et - I
(a) YHIRRT

(b) TEIHTTT HIE
EAREEI)

(c) FreHq
(d) gaT =k

FE

(a)
(A) (i)
(B) (i)
(©) (D)
D) @) @

(b)

(iii)

(©
(iv)
(i) (@
(i)
(iv)

(©
(i) (i)
iv) (@)
(i @)
(iv)

(iv) =2

(d
(iii)
(i1)
(iii)
(i1)

e - 11
(i) wfea
(i) ufRetor
(iii) T FaT

(iv) UTeRT3
EEIEaw)

(d)
(iv)

(iv)
(iii)
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Read the passage given below, and
answer the questions based on your
understanding of the passage.
(Question Nos. 46-50)

Invention is the creation of an
idea that can be translated to practice.
It is also the process of bringing new
technology into being. Invention is
goal directed, the process is orderly,
and it is essentially an intellectual
process. An inventor is generally not
a big reservoir of existing knowledge
or of past failures. A substantial part
of a scientist’s time is spent in
collecting facts. The greater a
scientist’s familiarity with the great
scientific works, the greater will be
his own power of invention.
Ingenuity is the younger brother of
imagination. Theoretical creation is
an intermediate step between
invention and discovery. A scientist
who is familiar with a number of
methods attached to a problem, is
most likely to solve the greatest
number of problems.

Invention is the  basic
ingredient of innovation. Innovation
is of two kinds, i.e., in product and
service. It is a slow process.
Innovations which started several
years ago may bear fruit now.
Innovation involves the bringing of
an invention into commercial use. In
some cases, invention and
innovation merge into one another.
Invention and innovation have been

the foundations of industrial
development in most advanced
countries. Innovation bring about

competition and competition brings
about efficiency. Of the total
innovation process, research is only
a part. Research may invent, but
invention can only be utilized by the
complicated and complex process of
innovation. Innovation is more often
the result of recognizing and
adapting an idea than of invention a
new one. Utilization of technical
information  including  research
outputs can result in an industrial
innovation.

Innovators achieve success,
but not imitations. In the past,
innovation came from individual

Paper-1I
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48.

49.

50.
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scientists. Individual inventors were
responsible  for innovation. In
modern industry it is rarely the case,

teams of scientists are really
responsible  for inventions and
innovations. Success in invention

and innovation depends not only on
originality and imagination but also
on knowing what and how to invent
and innovate.

What is an invention ?

(A) It is the idea that has the
characteristics of application.

(B) A theoretical idea regardless of
application.

(C) A discovery that does not lead
to new technology.

(D) A process bereft of use.

An invention involves

(A) Collection & application of
past data.

(B) Simply an effort to explore
past knowledge.

(C) Redefining knowledge of the
past.

(D) Exploiting past knowledge and
newly collected facts.

Industrial development and

competitive environment are

possible when

(A) Invention follows innovation
(B) Invention leads to innovation
(C) Invention prevents innovation
(D) Invention has little practical

use

Invention is carried out at present
(A) by an individual researcher

with little originality and
imagination.

(B) by an individual researcher
with high level imagination.

(C) by a group of researchers with
adequate  originality  and
imagination.

(D) by industrialists to achieve
success in business.

What is innovation ?

(A) Innovation is a theoretical

process.

(B) Innovation conceals invention.

(C) Innovation is a process of
application of invention.

(D) Innovation provides data for

invention.

J-5910



Ffefad eT=9% 1 UfeU 3R 3Tk
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aﬁaﬁwﬁwﬁwméﬁm% |
ey SR fore sl Tear 3R
S T GNOTH il & ST 3
YR & 3MIhR o | Y o YROMET
THd, dEAlel e B SEIEI,
aﬁaﬁﬁwmauaﬁqﬁwﬁﬂﬁﬁm% |
eTverceh quldlw?rehm% !
RO &l | o wer |, Aave
STT- 3T ol:m—iohl@r‘g’q | STT-3TeTT
fershReh Temera o ford R 9 |
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48.

49.

50.

T | Rt 9 9% Hifetehdr 31K

T IR R F & IR 39 T W o
R e & o6 aﬁT Y =R
S Teverd fhT ST |
SRR T & 2

(A) T TF TR ¥ NOH W
oA € |
(B) wﬁamwﬂ%ﬁm@@ﬁw

©) W@Wﬁqﬁ?ﬁaﬁﬁﬁﬁaﬁaﬂi

T Tel AT € |
(D) 3UANT afad Uisha |

SRR 3776 AT &
(A) foma  sfhg &1 WwE wd

STYRfeRT |

ToTa T B! TIT-S1 o3 ol 196
T IV |

ToRTA T Rl G TR e |
fommer ST AR =& Geferd qedt
HE Y AT |

3TN I 3R JoTea qaTeRoT
Guyiferd &, ST
(A) SRR AGvac T 3T

FATE |
(B) ;T%anuaé?aﬁaﬂwgﬁm

|
(C) 3T=hR TavecH il AFaT € |
(D) STT=HR ¥ AT ARG AHE |

A T | STrehr T STl &

(A) 9ISt HifeThdl 3R HeTT & g
ST el 5T |

STIEAR bl HoUT o HIY AT
?ﬁ‘?ﬂw_vﬁm |

YT HifeTehdr 3R SheqT & 91
Qﬁaaﬁ%aﬁaswm |

FHRITR H FGHAdT el it &

13 SgTafaar g |

FIVET T 2

(A) TEERH Ueh YgIi=Teh UshaT & |

(B) TeVEG SATeh ol fOUT ST & |

(C) ouecH SMT=hR @l SR
T B UHATE |

(D) TovEdd SMa=hR & foid 3ifehe
TS T E |

(B)

©
(D)

(B)
©

(D)
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